
Paper: 1MA1/1H 
Question Working Answer Mark Notes 

16 ଻
ଷ

M1 for y = k ξݔయ  oe or ଻
଺
�= ξͺయ  k oe 

M1 for k = ଻
଺ ൈ ξ଼య  oe

A1 for ଻
ଷ

 oe 
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Paper: 1MA1/2H 

Question Working Answer Mark Notes 
9 65.60 P1 

for start in using inverse proportionality, eg 5 × 4.5 (= 22.5) or 4.5 = 
௞
ହ

 or  

5 × 4.5 × 60 (= 1350) or 
ହ
ଷ

or 
ଷ
ହ

P1 
for process to find number of hours for each cleaner today, eg 

ଶଶǤହ
ଷ

 (= 7.5)  

A1 for 65.6(0) 

(SC B2 for 61.5(0)) 
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Paper: 1MA1/1H 
Question Working Answer Mark Notes 
13 (a) 

2

9
y

x
 M1 begins to work with 

2

k
y

x
 oe e.g. subs of a pair of numbers into 

2

k
y

x
 or states k=9 

A1 
for 

2

9
y

x
   Accept   y = 9x - 2  

 (b) 3

4
 M1 ft (dep on previous M1) subs y = 16 into proportional formula of the form 

2

k
y

x
  oe 

A1 oe 
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Paper: 1MA1/1H 
Question Answer Mark Mark scheme Additional guidance 

14 y = 
P1 for setting up a correct proportional relationship, 

eg d D x2  or d = kx2 
Condone the use of ‘D’ instead of ‘=’ for 
the four P marks 

P1 for setting up a second proportional relationship, 

eg y D
2

1

d
or y = 

2d
K

P1 (dep P1) for a process to find one of the constants of proportionality 
eg 24 = k × 22 (k = 6) or 4 = K ÷ 100 (K = 400) 

P1 full process to find y in terms of x 

eg y = 
22 )"6("

"400"

x
 oe

Both constants must come from a correct 
process 

A1 y =  oe 
Expression must have been simplified, 
but could be given other equivalent ways 
eg y = 11.111.. xí4  

49

100

x

49

100

x
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Paper: 1MA1/1H 
Question Answer Mark Mark scheme Additional guidance 
�� �� P1 IRU�D�VWDWHPHQW�RI�SURSRUWLRQDOLW\�HJ x k y 

or �����RH 

0XVW�EH�ZULWWHQ�LQ�WKH�IRUP�RI�DQ�
HTXDWLRQ�ZLWK�D�FRQVWDQW�WHUP��DFFHSW� 
x k yv

P1 IRU�XVLQJ� ���� DV�PXOWLSOLHU  HJ (x� =� ����k y
or ����RH 

A1 FDR 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

4 260 P1 conversion to common units of capacity  
eg 2.2 ×  4.54 (= 9.988) or 8 ÷ 4.54 (= 1.76...) 
 OR 
for Company A 
2400 ÷ 4.54 (= 528.63...) 
OR  
2400 ÷ 8 (= 300) 
OR 
a rate per minute 8 ÷ [time for Company A] (= 4.8…) oe 

Results of calculations may be truncated or 
rounded. 

[time for Company A] could be 1 min 40 sec or 
1.66… or 1.6 or 1.40 etc as long as it is clear it 
relates to 1 min 40 sec 

P1 for a complete process to find the time for company A or company B in 
minutes.   
eg in litres  
Company A  2400 ÷ “4.8…” (= 500) or “300” × ሾ1 min 40 secሿ  (= 500) 
or Company B  2400 ÷ “9.988” (= 240.28...)   
OR 
eg in gallons 
Company A  “528.63..” ÷ (“1.76...” ÷ ሾ1 min 40 secሿ)   (= 500)  
or Company B  “528.63…” ÷ 2.2   (= 240.28…) 

P1 for complete processes to find the times for both company A and 
company B in minutes.   

Company A   
eg in litres 2400 ÷ “4.8…” (= 500) or “300” × ሾ1 min 40 secሿ(= 500)  
or in gallons “528.63..” ÷ (“1.76. ..” ÷ ሾ1 min 40 secሿ)   (= 500)  
AND 
Company B 
eg in litres 2400 ÷ “9.988” (= 240.28...)   
or  in gallons  “528.63…” ÷ 2.2   (= 240.28…) 

A1 for an answer in the range 259 to 260 If the answer is given within the range but then 
rounded incorrectly award full marks. 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

8 (a) Graph sketched C1 Sketch Accept freehand provided intention is clear 

 (b) Graph sketched C1 Sketch 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

9 (a) 4 P1 12 × 5 ÷ 15 
A1 cao 

 (b) Statement C1 Acceptable examples  
it could take more time 
it could take less time 
it could take more or less time  
it would take longer if they worked at a slower rate 
Not acceptable examples 
the time will be less as there are more people 
if the rate at which the 15 people work changes 
it would have taken longer 
it would take less time 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

17 61
2

x z 
M1 for setting up an equation eg  x = ky2 oe or y = cz3  oe Accept use of proportionality sign,  

eg x ݕ ןଶor  y ݖ ןଷ or x ݕ݇ ןଶ or  y ݖܿ ןଷ 

M1 for eliminating y  eg  x = k(cz3)² oe 
OR 
substitutes values in both equations, eg 32 = kݕଶand y = c2ଷ 

Accept use of proportionality sign, 
eg 32 ݕ݇ ןଶ and  y ן ܿ2ଷ 

M1 for substituting in 32 and 2 to find the constant, eg 32 = m2଺ 
OR 
combines equations, eg 32 = k ܿଶ2଺ 

A1 oe 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

14 Evidence of 
solution 

M1 for constructing an equation eg y D ଵ
௫³

  or eg y = ௞
௫³

 oe 

M1 for substituting in the values a and 44 into y = ௞
௫³

 

C1 for a complete method to use the equation, the value of k and  
x = 2a to show y =5.5  eg  ( 2a)3y = 44a³ and y = 44a³ ൊ 8a³=5.5 

Must show all steps clearly 
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Paper: 1MA1/3H 
Question Answer Mark Mark scheme Additional guidance 

16 í��� M1 for stating a correct relationship, eg y = ௞
௫మ

 or  8 = ௞
ଶ.ହమ

Accept y Į ௞
௫మ

 where k may be 1 

A1 for k = 50, could be seen in an equation 

A1 í��� oe 
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Paper: 1MA1/1H 
Question Answer Mark Mark scheme Additional guidance 

13 t = 20 
p = 4, 50 

M1 for method to find a missing value of p, 

eg 100
25

oe (= 4) or 100
2

oe (= 50) 

or for 100p
t

 

Marks for 4 or 50 can only be awarded if in 
correct cell of table or unambiguous in 
working 

M1 for method to find the missing value of t, eg 100 ÷ 5
1

(= 20) 

or for finding both missing values of p 

Mark for 20 can only be awarded if in correct 
cell of table or unambiguous in working 

A1 cao 
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Paper: 1MA1/1H 
Question Answer Mark Mark scheme Additional guidance 

17 
3

40

x
y = P1 for setting up an equation with a constant term, eg y k t=  or 3

Kt
x

=
Condone the use of µD¶ instead of µ=¶ for the 
first two P marks 
Equation can be implied by correct 
substitution 

P1 for a process to substitute values in one equation, 

 eg 15 = 9k  or k = 5 or 8 = 32
K  or K = 64

P1 (dep P2) for combining the two equations ft their values of  k and K, 

eg 3
645
x

y =

OR for 5y t=  and 3

64t
x

=

A1 oe Formula must include 40 
Accept other forms for the power of x but 
must be a single term in x 
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Paper: 1MA1/2H 
Question Answer Mark Mark scheme Additional guidance 

11 Shown M1 for 6 × 14.5 (= 87) or 13 × 7 (= 91)  or  13 · 6 (= 2.16(666«)) May work in hours or other units of time 

M1 for ³87´ · 7 (= 12.428...)  
or ³87´ · 13 (= 6.692«)  
or 6 × 14.5 (= 87) and 13 × 7 (= 91) 
or 14.5 · ³2.16´ (= 6.692...) 

Accept figure rounded or truncated to 1dp 

C1 (dep M2) for 12.(428«) (workers) or 6.69(2«) (da\s) or 87 and 91 Figures must be correct and supported by working. 
Accept value in range 6.69 to 6.72 for number of 
days 
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